7:(5

=z

=

p23 WhHLTHLSD

| DizA

p24d 7ZL2®L)

Al HBTX5=7x4+[7] Lig7%x5=7x6—[7] h <7 x5 =[5]X[7]
~[33] ~[33] -135
A2 xRicadbeThrFonzFotxsFLs |
/><= *AOMb. L2510 %3, FA4x3
14x%3 \
[4]x[3]=[1 2]

BT

A3 ZzR0kcnd»dEDOKX- - - T (7x0) L7 (0x3) & (0%x0)

A4 ®7x[8]=56 @3x[9]=27 G@le]x6=36 @7|x9=63

p.25 DOV TWISEHDH

D (1) 7x10=70 (2) 7 (12%210¢ 219 FCwn3)
7% 2=14
HbbeT 84

@ 17+24=24+17]

p26 BIEATWVEDR? »FE=AF

[1] 71200 4 3000 % 3500 T 4900 5 5400 @® @ @ @3 ® O
DakT> @8c
204 @120 @18

5]




42 @ B2 LB flo L

NHEZRLD

{)2,_7 ‘53727/\9’“ ........ S ﬁ@

m

=

i

=

oof |

V250 > S50

770 14 ‘{q[ ~~~~~~~ i

{(oh

L ity 10

4o-10-[ ] SceovDPEfH BV




fi%ﬂ%%ﬁﬁ@%?e;]5“WI?%**4F?%355“*'5-
E:R— //‘? L ~—1‘H:]( U)&#iu) o G o= hur ANTETE0A *urb"

o <———»"\zi:3v:‘ -
L= bR




(@D ANSorr-1 A0y, 2115‘ ‘?0%}25 o
LP45R ity PUGHE .




